% B = § Fx

PRk 2 34 9H21H)
Hf &

AR MEEE, TR ERE. fEE BRI AR BT REHET. Sl s
REF O OF A RAL WHIE

FRE3AN
B AAMABRERDABHEOT O, #EITIIRISEMTI BRENH o712,

Wt I

1. BENDEDHDIFEEIZ DUV T
AEEBEHEEND, ROEBYVHRENRH T,
- 9H17H (1) BESHZRBRS B RTBWT, M) BEEEREEFRESO
R 2 2 FEEREMAT ) RO TRk 2 SRR IR R) 2R R LT,
C R 2 A B BERS R E RSB R IZ DV T
< ) BEBMERERENS Oy 7Y A FOT T v aT v ITONT

N
al
i

C

BEMREMORESHER - REFERHEIZHONT
FINESENG, T =), T 3ERESRE - ARESHE] O TGRZBE S 12
DONWTHERH -7,
YRk 2 39 9H 1 7H (&) B JIatE
‘¥ 2 17:00~
R, ARTENET A RS COF o) FHilik, R
mAE BTl (1 420) BBREIN, £TOHEF - BENVKR I N,
feu T, MR EIRE (6 AMRE) REX, RERE R OHEEFHO
PR o 5T,
- BEER -REESHE 1600~
HUR DS R - REFEDFATT D | STERORBTEE) it 7 L35 D o 1
IZOWTCRER B RN TONTZ, COBE - RRESHHIEE 2 64)
BB S 18:00~
W SR OREIGHE - REFSHFOGRBHSIL, HE, TR -EHE
LOSERSSEE (BRI 77— =57 A N7 a—TFR) 2506 0412 T
LN AT O,
3. Z DA

(RaHEE 4 084]

1) FNEEPL. KUEE 1 2 52 K0Skl - RRR - =HEIRI(Z

—

BOWTHRELTWLIRBIZBRBVRZE ST A, ZAOERENLRERD
STEEREND T,



2) MNEENL, REOHMEIZOVWTHEND -T2,
+W =R A (B4 8%)  Fpk2 24 44 Wik
wKHE 98 ek (H25%)  YEk2 248100 #ik
il AT ek (252 PR2210H26H #ik
VD FE e (B3 1) PRk22411H 9B MiE
R AR Jok (B2 5%) P2 3% S5H24RH Mk
Wy HEAE ek (B3 72)  SFRk2 34 8H 9R ik
il # ek (B23%) P23 9H10H #iE
ot PESER Sk (B2 7A) Fpk2 34 9H 18R ik

3) MRENEEN S, FMRASHERFIL., #oRE44 52BN TEEBLEZE
WENH T,

4) MM BEZERND ., |ASE - KRERE ) KNEEORI, S B4 @SS
DARANERBUNZ DOV THE EMAKIEEOEFIZOVWTHERH Y . FHERT
NEVANANRIEE 2 2506092 2 & 3R ST,

Wiz, TRIBSMBOERRE HEE Lo W THRSERHY, W22 35
(1 2H15RA%T) IZE@L., BEKETLZEPmRINT,

F
1. PRk 2 3FEEEEEEIHEIC OV T
FINEEND, B LICASESRENANRD Y | FHROMER, A Ihi,
2. FIESMHBEIZHONT
O HNEENDL, G2 — 1ICESERENRH Y, FmOMR, KRS,
[BREER/VE P 1 4 BIFER RS s Bk o #dz
@ MRFINEENS, B2 — 2 ICESEX|ENRH Y, FHROME, ARSI,
% 2 [ EBRAUR AR A TR RE] WibE Al Rl
3. T
1) RBE-JI7 7 7R8I 6 0 AFEREHEEICONT
FINEEND, EAL2 4FIIF M7 7 7RI 6 0 84 GRIE) 2z, F
RFEFEOFEM L M ETE NS R E PRI X, Bl [—RMEEAN) ~
BATT 5700, —MHEARELSFELIE CERTL2FRERHY ., T
RIT,
2) ZDfth

bl
(gt

WRE2 341 0H20H (OK)
19:00~
(J) 3k = fF )






